Year 4 Maths 10-11-20

LO: | can use my times tables knowledge

1. What are the missing numbers in these calculations?

_ x12=36 4x =28 _ x6=48
_ x5=55 _ x9=81 _ x4=28
45+ =5 56+ =7 _ :6=9
2.

Match each statement to the correct bar model.

5 buses have ten 10 10 10 10 10

passengers.
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ten pencils.

10 chickens lay 5 w|lw|w|w|w|w]|w0]|1w0

eggs each.
3.

i3x m« —memw =3%0nes=3

Complete:

3 x I =I I I =___ _tens=___

§ O} | | .



4.

Always, Sometimes, Never

If you write a whole numberin a place
value grid and multiply it by 10, all the
digits move one column to the left.

Place Value Grid

Thousands | Hundreds Tens Ones
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Write the calculation shown by the place

Tens
OO0000O aluecounters.
0000000
OO |0000® Eachrowhas ____tensand ___ ones.
Q0100000
OO |0000O Eachrow has a value of .
00|00000
00 ogooo There are ___rows.
s
00100000 The calculation is X =
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Use place value counters to calculate:

10x3 4 %10 12 x 10




